+M7$E2A3H 2B A
K+ Ny7T4 | RAT —47 =t 3

B |hEEE -6 90 7 17
EER RAST 103 4 24
3L |FNs= 105 3 24
4% |BEEREF -3 105 3 18
SN |Fhamus 106 3 25
66 |Fik IF 108 2 24
TH |fesERT -6 109 3 18
8L |EtME— 110 1 31
ML |BEETF -6 110 3 17
10 |sRakfdpE +1 111 1 29
10 |A#HIER 115 2 20
124 |/)AHISE -6 115 1 21
130 EwEEMT -4 116 2 22
140 |Zm3L 117 2 23
1540 [sth Ffke 117 2 20
164 |Jbs4E— 117 1 26
1712 |\LAfER 118 3 12
18f ZBERT -6 119 2 16
191 |@aEk 120 2 18
200 \FESETF -6 120 1 17
201 A #B -6 120 0 24
200 |MacdH -6 120 0 22




